NN
ﬁ:liﬁ \5’1@’ @ Expoentes negativos de 10

Nome: Encontro: Data: Pontuacio:
744,2 x 1007 = 158,2 x 1004 =
—3x10° = 100D =
232,2x 100" = 10CY =
—2x 10" = 1x10 =
549, 1+ 1002 = 3x107Y =
8§ x 100Y = 3% 1073 =
1079 = 1002 =
100D = 1004 =
—2x 100D = 100D =
397,9x 100% = 9% 1002 =
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Nome: Encontro: Data: Pontuagio:
744,2 x 107°) = 0.7442 158,2 x 107 = 0.01582
—3 % 107 = —300 1077 = 0.1
232,2x 107" =23.22 107 = 0.0001
—2x10°=-2 1x10=10
549,1+ 107 = 54910 —3 x 107 = —0.0003
8 x 10% = 0.0008 3% 107 = -0.003
107 = 0.0001 107% = 0.01
1077 = 0.1 107 = 0.0001
—2x 107" =-02 1077 = 0.1
397,9 x 1072 =3.979 —2x 107 =—-0.02
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